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Note : Answers may be writlen either in English or
in Hindi; but the same medium should be
used throughout the paper.
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Attempt all the questions.
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(a) What do you mean by Investment Decision
Process ? How is it going to help investors

in making sound investment decisions ? 6
(b) The returmn ont two -sec;urities under four
possible states of nature are given :
State of | Probability] Return on | Return on
Nature Security: Secur_ity_
A(%) [~ B(%)
] 0.2 7 4
2 0.4 9 10
3 0.3 14 18
4 0.1 18 = | =28:4
Find

(1) Expected Retum on Security A and

Security B.

(i) Risk (in terms of S.D.) on Security A

and B.
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Covariance between the returns on
Security A and B.

(iif)

Coefficient of correlation belween the
returns on Security A and B, 9
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(iv)
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(%)

] 0.2 7 4

2 0.4 9 10

3 0.3 14 18

4 0.1 18 28
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(a)

(b}

(#)

Differentiate between

(i) Security market line and capital

market line.
(ii) Systematic and Unsystematic Risk.

Mr. Z is considering investment in
securities A and B whose details are given

as below :

A B
Expected Return  26%  32%
Risk i.c. S.D. 8% 14%

1f a portfolio of 60% of A and 40% of B 1s
formed, find the

(i) Expected Return of Portfolio.

(1) Minimum Risk of Portfolio.

(ili) Maximum Risk of Port{olio.

3 AR

(i) Wi e Ui ot 4ot avam df
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A, B

T UThed 26% 32%
wifey s S.D. 8% 14%

AT A F 60% TwHiGar R B & 40%
nieRifer Ft dar ferm s ot ST g

(i) I T Y Aidwe
(i) CRIEt S g s
(iii) WEwiferar 1 Afepad Siftan

2. (a) Examine the relationship between time to
matunity and bond valuation, with the help
of a diagram. 6

(b) A company is contemplating to issue bonds
having face value of ¥ 10,000 which will be
redeemed over a period of 5 vears in five
equal annual instalments. The bond carries
a coupon interest rate of 7%. Find the value
at which the bonds shall be issued to the
investors having expected rate of retumn at
11%. 9
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(a)

(b)
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OR/argar

What is meant by Efficient Market
Hypothesis ? What are its various forms ?

Explain with the help of suitable diagram.

Mr. Nanda wishes to invest some of his
funds in_a company. His analyst have
advised him to buy shares of a company
which has given a current dividend of
% 3.00. Dividends are expected to grow at
20% for 10 years and thereafter 8%
perpetually. Find out the value of the equity
share. The required rate of return of
Mr. Nanda 1s 10%.
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Examine critically Harry Markowitz Model giving

its assumptions and limitations.
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(b)

OR/FHgaT

An investor buys 600 shares of ABC Ltd. @
¥ 300 per share in the cash market. In order to
hedge, he sells 400 futures of ABC Ltd. @
¥ 200 each. The share price and futures price
decline by 8% and 4% the very next day
respectively. He closes his positions next day
by counter-transactions. Find out his profit or
loss.

Sanjay has bought call and put options. Each
contract is of 100 shares.

(1} He has purchased one 3 months call
with a strike price of T 52 and T 2 as
premium.

15
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(2) He has paid T 1.00 per share premium
for a three months put with a strike
price of T 50. Find out -

(i)  What would be Sanjay’s position
if the stock price moves up to
¥ 53 in 3 months.

(i) What would be his position if the

stock price falls to ¥ 46 in 3
months.

@) U fFawes ABC fafade & 600 v T 300 ufa

Va7 #t e7 W el SR A @A & 1 uiawn
% FRY 95 ABC fafies & 400 9 T 200 #
WA AT W E (IO HEa AT g Sma
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(a) Write short notes on :
(i)  Credit - Rating
(i) Capital Asset Pricing Model of

Security Valuation 6

(b) Given the following information :

Portfolio | Expected | Risk i.e.
Return S.D.
A 30% 24%
B 22% 18%
C 20% 15%

It is further given that return on market index and
risk-free asset is 19% and 10% respectively. The
standard deviation of market index is 12%.
Which of the portfolio are efficient and

inefficient on the basis of capital market line ? 9
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A 30% 24%
B 22% 18%
C 20% 15%
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(a) Explain the following :

(i)  Financial Engineering

(i) Financial System

If the risk-free retum is 10% and the
expected return on BSE index is 18% (and
risk measurement by standard deviation of
BSE index 1s 5%), how would you
*construct an efficient portfolio to produce a

16% expected retum and what would be its
risk 7

(b)

10
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(a)

(b)

Frerferfaa =t =men i .
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Differentiate between Fundamental
Analysis and Technical Analysis.

A mutual fund made an issue of 10,00,000
units of ¥ 10 each on Jan 1, 2011. No entry
load was charged. It made the following
investments :

3

(1) 50,000 equity shares of| 80,00,000
T 100 each @ % 160

(2) 7% Govt. Securities 8,00,000
(3) 9% Deb. (Unlisted) | 5,00,000

(@)  10% Deb. (Listed) 5,00,000

98,00,000

11 P.T.O.



9601

(%)

(@)

During the year, dividends of ¥ 12,00,000
were received on equity shares. Interest on
all types of Debt. Securities was received as
and when due. At the end of the year, the
equity shares and 10% deb. were quoted at
175% and 90% respectively. Find out the
Net Asset Value (NAV) per unit given that
the operating expenses paid during the year
amounted to ¥ 5,00,000.

SR favelr ST TR faverau o FH
AT |
e FEA HE A L SR 2011 F 10 TR

10,00,000 FFFe STt foFw 1w R @ ferm
T 1 5 Freteten fraw feg

1) 7% T sleferdt 8,00,000

T

(1) 50,000 ¥ S 80,00,000
7 100 a9, ¥% IR
T160 W

(3) 9% Fed=t (e 5,00,000
4)  10% fea= (g 5,00,000

98,00,000

12
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OR/3gar
(a) Write shoit notes 6n :
(i}  Investors’ Protection
(i) Book- Building 6

(b) The following information is available for
PQR Ltd. for the year 2010-11.

Annual Turover 50,00,000
Operating Profits 20%
Equity Share Capital (F.V. ¥ 100} 20,00,000

Capital Reserve 5,00,000
12% Pref. Share Capital 20,00,000
10% Long Term Loan 10,00,000
12% Debentures 10,00,000
Tax Rate 30%
Dividend Payout Ratio 50%
Price — earning Ratio 30

9601 13 P.T.O.
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Find out :
(i) Eaming per equity share

(i) Dividend per equity share

(ifi) Market price of the equity share

(iv) Earning yicld on equity share

(v) Dividend yield on equity share

Prafefaa w g feofoet fafau
() vt # g
(i) T TR B

PQR FefiRe & ad 2010-11 & fau fr=ferfea

YA ITTH £
e qudrad

LEIGE RG]
sfrmet 9 st (F.V. % 100)
=it o

12% s P it
10% Srataty o1
12% fed=r
HT H T
ST T A
-G ST

14

50,00,000
20%
20,00,000

5,00,000
20,00,000
10,00,000
10,00,000

30%
50%
30
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